01-09-2023 13:05

sapwebdcp1.caprarigroup.com:44300/wx1_spwc_sso(bD1IbiZjPTAxMA==)/print.htm?print_id=005056AF58F 11EEE9296EB...

CAPRARI S.p.A

41123 MODENA (ITALY) - VIA EMILIA OVEST, 900

Tel. +39 059897611 - Fax +39 059 897897
email: info@caprari.it - www.caprari.com

780403 - MEC-A3/65A HORIZONTAL PUMP

caprari]

%?)\WWB@@/\ J;ﬁ L

pumping power

2 4 4

\
&\
3 ®
7 800
R
10
%
2 5
Alemaaments 2
. -~ :
-
.-
.-
.-
. ~
; 59
| 51 \
8 (A\ %
A8
ﬁ 15E
COMPONENTS LIST
Pos. Code Serial N° Description Qty
1 400080 MEC65/260-1 DELIVERY CASING 1PZ
2 400391 MEC65/260-3 SUCTION COVER 1PZ
3 400808 MEC65/260-5A IMPELLER D.260 1PZ
5 330153 MEC50/260-43 LANTER RING 1PZ
6 440536 MEC65/200-165A WEAR RING 1PZ
7 440537 MEC65/200-165B WEAR RING 1PZ
8 310835 MEC50/260-18 DEFLECTOR 1PZ
9 330344 MEC50/260-33 PACKING 7X7 5PZ
10 330132 DS02309 NON-STANDARD NUT M18X1.5X16 UNI7474 (TO DRAW) 1PZ
" 300745 GCO0735 DOWEL M10X12 UNI5923/DIN913-12.9 1PZ
12 310427 LCH0732 FEATHER KEY ABX6X30 (TOL.UNI6604)-C50 1PZ
13 300394 PN02007 STUD M10(6G/6G)X50 UNI5909/DIN938 2Pz
14 300361 PNO0733 STUD M14(6G/6G)X30 UNI5909/DIN938-5.8 4PZ
15 300341 PN0684 STUD M12(6G/6G)X25 UNI5909/DIN938-5.8 8PZ
17 310028 DNO0734 NUT M14 UNI5588/DIN934-6S 4PZ
18 310025 DNO0676 NUT M12 UNI5588/DIN934-6S 8 PZ
19 310714 TF01304 PLUG 3/8"GAS CONICAL (AFL N.290/292) 3PZ
20 330722 MEC50/260-141 GASKET FOR SUCTION COVER 2PZ
889130 KIT P39/1-8 STUFFING BOX KIT 1PZ
50 440805 MEC2A-178 PEDESTAL 1PZ
51 410671 MEC2A-9 BEARING COVER 2Pz
52 411144 MEC2AU-1007 PUMP SHAFT + CSN L.461 1PZ
55 350043 CSNO061 BEARING 6305 2PZ
53 310816 MEC2A-26 OIL DIPSTICK L=77 1PZ
54 310743 MEC1A-28 OIL FILTER PLUG 1PZ
56 330240 AT0379 SEAL RING 25X38X7 2PZ
57 310446 LCH0968 FEATHER KEY A8X7X50 UNI6604-C50 1PZ
58 300055 VTEO116 SCREW M8X20 UNI5739/DIN933-8.8 6 PZ
59 330824 MEC2A-146 GASKET FOR FLANGE 2Pz
60 310714 TF01304 PLUG 3/8"GAS CONICAL (AFL N.290/292) 1PZ
64 410861 MEC2AU-220 SHAFT SPACER SLEEVE 1PZ
https://sapwebdcp1.caprarigroup.com:44300/wx1_spwc_sso(bD1IbiZjPTAXMA==)/print.htm?print_id=005056 AF58F 11EEE9296EB5C8727C178 11



